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Question Number : 1 Question Id : 3354727631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who established the original Archaeolo%i;al Museurn, Sanchi on the hilltop of Sanchi? | T T & gt &

AT O TR YR cel SUETaa, Hi=t & ST
Options:

1. ® Charles Correa | =Ted ®1eAT

2. ¥ Sir John Marshall | &€ 19 AT
3. % Marshall Durand | ATd 542

4 % 5ir Thormas Roe | 9 9T0T €

Question Number : 2 Question Id : 3354727632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Saha Institute of Nuclear Physics? | @157 AT HiTE T G960 #5157

Options:
1. % Mumbai [ gas
2. % Kolkata | Tia@ET

2. ® Chennai | =ige
4. % New Delhi | 72 TSt

Question Number : 3 Question Id : 3354727633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The indelible ink used in General Elections is manufactured in: | @A ATl H ZETATA Fi G161 SITHT TATE BT
GE L ARG

Options:

1. % Varanasi | aRIoEr

2. % Gumalior | TETTEET

3. ¥ Mysore | BT

4. % Madurai | n@‘ﬁ

Question Number : 4 Question Id : 3354727634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year did the Cormmunist Farty of [ndia come into existence? | T o § 9= GrETar 011 Sieacd § 87

Options:

1. % 1923
2 ¥ 1925
3. % 1928
4 % 1930

Question Number : 5 Question Id : 3354727635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Red Cross Day’ is celebrated on ________ of every year. | Tebar ¥ @19 T, W@ ay _____________ Cal
AT AT 31

Options:
1. ¥ sthMay | 572
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2. % gth May | 9 A
3. % FthMay | 7 A
4 % SthMay | S HE

Question Number : 6 Question Id : 3354727636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who was the chairman of the Constitution Drafting Cormrmittes? | Hierm= AT 9T & a1y ®19 97

Options:

1. # Jawahar Lal Nehru | JET5T AT A5&

2 ¢ Dr. BR. Ambedkar | T o 3. TdZa7

% % Dr. Rajendra Prasad | =T TR TS

4 % Sardar Vallabhai Patel | S¥E dedd 972 U2

Question Number : 7 Question Id : 3354727637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which personal law practice was struck down by India’s Supreme Court a5 unconstitutional and invalid? | Terer
Tt I W AR T Wiy - ATATA T G S o s & ' § | @ o mame

Options:
1. ® Polygarmy | Sgieemg

2. ¥ Triple Talaq | 917 aa@

3. % Dowry | 259
4. % Marriage of minors | =1 TEE

Question Number : 8 Question Id : 3354727638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following states was the first to establish Panchayati Raj institutions? | FaieiEs & @ 319 a1
T2 UelTE T ¥ ST B w10 ST aTAT Wl T2 417

Options:
1. % West BEengal | T e
2. % Rajasthan | ==

3. % Tamil Nadu | TS
4 % Gujrat | =T

Question Number : 9 Question Id : 3354727639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following was the first registered trade union of India? | FEERET & & T GRS FT 05T U 1FT FATHR

ey e

Options:

1. % Hind Mazdoor Sabha | 58 #=Igt 41

2. % Bharatiya Mazdoor Sangh | e = #gt g
3. ¥ Madras Labour Union | g ded e

4. % Indian National Trade Union Congress | W = T8 S0 &6 H0e

Question Number : 10 Question Id : 3354727640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The Sikh Khalsa was created by
Options:

1. % Guru MNanak | % 99®

2. ¥ Guru Gobind Singh | 7% nifdg 48
2. ® Guru Teg Bahadur | 7% a5 SgG¢

4 % Guru Hargobind | 7% g0iTeg

Question Number : 11 Question Id : 3354727641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is Rajnish Kurmar? | TR §u #1987

Options:

1. % Man Booker prize winning writer from India | ARG & A9 o [EFR (a1 oa@®

2. % A famous theatre personality from Karnataka | Fieed o U Nitkg T g

3. ® Secretary in the Ministry of Communications, Govt. of India | IXT TR, TN AT H AT
4. ¥ Chairperson of the State Bank of India | ¥ d@ 3TF S1227 & sregyy

Question Number : 12 Question Id : 3354727642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Indian woman scientist did Google recently honour on her 100th birthday? | 5T W 1 AlgAT =1 F1
A 5r H 378 100 o FeAfeT Hwﬁﬂmr%ﬁﬁmw

Options:

1. #® Janaki Armmal | JEHT ST

2. % Kamala Sohonie | FHAT GEMT

% ® Anandibai Joshee | smeoiarg St
4. ¢ Asima Chatterjee | AT ZEET

Question Number : 13 Question Id : 3354727643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which state of India is the famous Sanchi Stupa located? | AR & T T § Hithg Hizi &1 &0 e im 2

Options:

1. % andhra Pradesh | ST 084
2. % Maharashtra | AERTE

= ¥ Madhva Pradesh | T2 0ar

4 % Tharkhand | SIREs

Question Number : 14 Question Id : 3354727644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Sessa Crchid Sanctuary is located in

Options:

1. % Arunachal Pradesh | S50 H2aT
2. % Madhvya Pradesh | T 0qr

Z. % Himachal Pradesh | SRR 02
4. % Uttar Pradesh | 39¢ 04T
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Question Number : 15 Question Id : 3354727645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“hachai Fallsison _______ river. | TS FAWAT _______ el
Options:

1. % Tapti | 9@

2. ® Betwa | =dar

3. % Sindh | e

4. ¥ Eihad | 952

Question Number : 16 Question Id : 3354727646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which one of the following places in Madhva Pradesh is the farmous Virateshwar temple located? | HET PCE

TgfaET 8 & #9199 4 S w TERT e Ay
Options:
1. # Gotegaon | TR

2. % Anuppur | ST
= ¢ Shahdol | g
4. % Jabalpur | F&EAYY

Question Number : 17 Question Id : 3354727647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Chidikho Lake situated? Erat sita @51 9T 27

Options:

1. ®¥ Byawara | sJdmT
= % Sagar | |

3. % Kurawar | §een

4. ¥ Narsinghgarh | REETE

Question Number : 18 Question Id : 3354727648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Punasa Darm is in District. | QATET &Ter

Options:

1. ¥ Khandwa | @=ar

2. ® Harda | g4ar

% % Hoshangabad | SlEmeEng
4 # Mandsaur | BT

Question Number : 19 Question Id : 3354727649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Devi Jageshwari Fair held? | ST STt #aT F57 ST=a o =T 57

Options:
1. % Bhander | 927
= % Chanderi | @il
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3. % Mandu | AZ
4. % Ghighara | Teremr

Question Number : 20 Question Id : 3354727650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which district are the farmous Khajuraho termples situated? | Bieg TRl Ala 9 el # e g7
Options:

1. * Panna | 74T

2. % Sagar | 9T

3. ¥ Chhatarpur | a7

4, % Damoch | ZAE

eneral Maths and General Aptitude

Section Id : 335472244

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472244
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o

2 x5 x5 Ex =7
3 a7

Options:

1. %5

2 %0z

2. % 004
4. % 0.008

Question Number : 22 Question Id : 3354727652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

(7+5)—(7—+5)+3/5=7

Options:
1. %7
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Question Number : 23 Question Id : 3354727653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the side of 4 square is & times, then its area will be: | =i U a1 &1 Q=T 2 AT &, T SHET HT06 G

Options:

1. % 2times [ 2 7T
2. ¥ dtimes | 4 AT
3 % Btimes | 8 TAT
4 % 16 times | 16 1T

Question Number : 24 Question Id : 3354727654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If 2%2-3x%+5 =4, thenthe value of x is: /TS 2x2-3x+5 =4, T x FT AT &

Options:

1.%1

2 %2

3. 1|2

4 % 1(4

Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 25 Question Id : 3354727655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is S*487/ 52428 87

Options:
1. % z00
2. % 400
3. % 40
4. % 20

Question Number : 26 Question Id : 3354727656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | sfHa Faiem
52, B0, 40 29, 29

Options:
1. % 40
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2 % 41
3. ¥ 42
4. % 43

Question Number : 27 Question Id : 3354727657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If the difference between a number and its reciprocal is 5, then what is the sum of the sgquare of the number

and its reciprocal? | o U SEAT Ud I ofobl oF T2 faT 5 &, 7 ST & ol ol J6% ool T I FT 57
Options:
1. % 25
2. % 25
3.9 27
4 % 25

Question Number : 28 Question Id : 3354727658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If three numbers are chosen from 2, 4, €, 8, 10, 12, and 14 such that their sum is 14, thgn what 15 the least
nurmber possible among the three nurnbers chosen? | A% 2, 4, 8, 8, 10, 12 &% 14 ¥ 19 T%A0 76 WA 41T @i
AT § T ST AMhe 14 8, 91 Faiaa o 1+ Searsll # & Saiid sigdd qedr 47 57

Options:
1. %8
2. %5
3% 4
4 ¥ 2

Question Number : 29 Question Id : 3354727659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The remainder when 5x% — 15x* + 10x° + 2x? - 6x+ Oisdividedbyx -2 is__. /o1& 5x° -

15x% + 10x% + 222 — 6x + 0T x— 2 & Taenfoig fomam =irar & o dwwer BT &l

Options:
1. %9
2. %7
SR
4 % 3

Question Number : 30 Question Id : 3354727660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two trains of length 500 mand 750 mare moving in the same direction. The speed of one train is 60 km/fh
and the other is 75 kb, The tirme taken for the faster train to pass the slower train is___. | SDD e & 750
HITE Tt ol ST (oIS T W T | T aier g1 U (ermst @ Tid 80 Tt/ weT sf1e gedl o i 75 forsl ©eT g1 ot T aret
CETTET BT T YETIST T U T Tere TR | 2l

Options:

1. % 60 sec | 60 9F02

2. % 120sec | 120 H0E
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3. ® 200 sec | 200 GFUZ
4 ¥ 200 sec | 300 GFU=

Question Number : 31 Question Id : 3354727661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an election, Aman got 65% of votes and won by a margin of 3000 votes. The total number of votes polled

iS____. | U A H, S BT 65% 7 WTH U &K 3000 AT & 3a¢ § Tt tgn ST 0 Fet Wt b oA 2l
Options:

1. % 100000

z. ® 50000

3 ¥ 10000

4. % 5000

Question Number : 32 Question Id : 3354727662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Three children ate 17 coolies altogether. Ammala ate more cookies than any other child, what 15 the srmallest

Options:
1. % 4
E
27
4 % g

Question Number : 33 Question Id : 3354727663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 2 litres of water are evaporated on boiling 8 litres of sugar solution containinﬁ £% of sugar, then the

percentage of sugar in the remaining solution is: | AT 6% T AT 8 Flet 2T & Tl FATA T 2 F 2T AT BT
AT ST 8, T 49 sl Teet # s1de &1 AT 97 Wi 9T &

Options:
1. % 0.6%
2. % (0.8%
3% 5%
4 ¥ 2%

Question Number : 34 Question Id : 3354727664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The surmn of three consecutive odd numbers is 20 more than the first of these numbers. What is the middle

nurnber? | T FAIT FEww wgarst & 9, 5 st F uge 7 20 i 1 T 5aT F9 57
Options:
1. %7
2. %8B
3% 12
4 ¥ 9
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Question Number : 35 Question Id : 3354727665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Raj Kumar sold 2 calculators for BEs. 990 each. ©On one calculator he gained 10% and on the other he lost 10%,

Find his gain or 1oss in the transaction. | T4 = 990 T O W 2 FAGIEt sl U Folgeiet 00 e
10% T WTH TefraT Ol e OF 36 10% o §Ti g2l %ﬁpﬁ@ﬁ%msﬁaﬁmﬁ:

Options:

1. # Mo loss-no gain | =T §T4-A7 719
2. % 1% gain | 1% ®T A

3 ¥ 1% loss | 1% & g1

4. % 5%loss | 5% @ ETH

Question Number : 36 Question Id : 3354727666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The sum of numbers 9999, 999, 9% and 9is___. | T=g7af 9999, 999, 99 ¥ 9 = JMEA

Options:

1.¥ 111086
= % 37689
3. % 21069
4. % 20087

Question Number : 37 Question Id : 3354727667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In A4BC, the points M and N on the side A5 are such that AN=AC and BM= 5C Find £ACE if
£MCN=43°. [ AMBC # #1eT AB W flig MAIN NSHYSH § & AN=4C3NBM=BC| Iy

LZMCN=43"% or ZACB AT S|

Options:

940
1. ¢

Question Number : 38 Question Id : 3354727668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The difference between the largest 4-digit number and the srmallest 3-digit nurmber is: | 4 3w & e ST T
T 5-2 ol Had Tle ! J§EgT & Fe 367 &

Options:

1.9 3899
2 % 5999
3. % 9989

4. % 9889

Question Number : 39 Question Id : 3354727669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1322 +182="
Options:
1.9 17748
2. % 17418
3. % 17408
4 % None of the above | 398 T F1E 751

Question Number : 40 Question Id : 3354727670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If the CP of an itern is Rs. S00 while the SP is Rs. 600, then find the profit %, | =g Ue o%q &1 & T7 500 704 8
Serter T Jer 600 F0 81 1 AT % F1q ®1i7

Options:

1. ® 16 66%

2 % 25y

¥ 20

4. ¥ None of the above | 598 & F1E 751

General Hindi

Section Id : 335472245

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472245
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
S aTer

Options:
1. % 24

2. ¥ 18
3. % 23
4. % 25

Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.

wETart F AT N @ e gl

Question Number : 42 Question Id : 3354727672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T I A 2 0 | e 8 91 3w a1 FEd 27
Options:

1. ¥ HgHIT

2. ¥ Tied e

3 % we

4 R ggE o=

Question Number : 43 Question Id : 3354727673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

S Ugf & st | ST foRm AT FEaaT s -
Options:

1. *® apfa

2 |

3. % gATdTd

4. ® form

Question Number : 44 Question Id : 3354727674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T A 1 F0 8141 81' 56 a1ad | Sfd HuTa @1 kg wemas § gie

Options:
1. v AT
2. % HENT
3 % g
4. %

Question Number : 45 Question Id : 3354727675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

afe a7 a7 "7 & AT AT'E AT AT gl O e
Options:

1. %1

2V

3. %37

4 % Z
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Question Number : 46 Question Id : 3354727676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“TeetT T g aaT g H & BT A e
Options:

1. %y

2. % s
= ® g
4« T

Question Number : 47 Question Id : 3354727677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

R FAT W T U e g H A e
Options:

1. adiT

2 ® atw

z ® aple

4 % afug

Question Number : 48 Question Id : 3354727678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T & Jfe ey Fg A e e ar g
Options:

1. di+ae

2. % gitae

Z. % gig+aq

4. ® g+

Question Number : 49 Question Id : 3354727679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T FT AR Seg FEH T T ATE?

Options:
1. % 47y
2 ¥ sEr

3. ¥ Enyg
4. ¥ T

Question Number : 50 Question Id : 3354727680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘arl IUHT G oA e Mg A A F 7

Options:
1. % arf
= W ST
3. % anrimet
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4. % arf

Question Number : 51 Question Id : 3354727681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FOT-TET e H g H € 9 97 A9 27
Options:

1. ¥ gz g

2. % iy gad

z. % TmrEnE

4 ® AT GO

Question Number : 52 Question Id : 3354727682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Aol aRAT Gerat @7 oif Mg A a wm AT g
Options:

1. & S@R a8 15T

2. ® OmEr

3. % 9 @A

4 & FIHET

Question Number : 53 Question Id : 3354727683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“WIHT 1 g ®0 g H TR ATE?

Options:

1. % st
2 ® i
z % o
4 it

Question Number : 54 Question Id : 3354727684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Taw U TedR a7 AT AT gae T
TIOTT A0 6 FIC—~HTT HAT 4T Thed AT 11
T Uil # g A g @t e 27

Options:
1. % afk o

o ¥ A
3. % EEaTd
4 ® gUETH

Question Number : 55 Question Id : 3354727685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qAIR-|1 THIT g2 51, Tife &7 3= 5 Fewr 7
H I AT w5 dgl Teweu g7
Options:
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1. % TdE SAa

2. % 47 aeAw

3. ¥ JUAT SEEN

4 ® IOw SEET

Question Number : 56 Question Id : 3354727686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TUH AT Seg giie- ST
Options:

1. ¥ arpa

2. % g

3. % argEr

4 % o

Question Number : 57 Question Id : 3354727687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A 8 & 95g ad AT 1T Jag B A1 87
Options:

1. % gidgiew

> Ofgiew

3 % gidgew

4 % giigmwt®

Question Number : 58 Question Id : 3354727688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT &3 T A6t =T e 9Ty A § # B g -

Options:

1. % AT
2. % TmrEt
3. % gt
4 % gaar

Question Number : 59 Question Id : 3354727689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
et aeal @ ARl AT E -
Options:

1. % g7 - a=mr

2 % Feivr- el

3.9 ATET - STFER

4. % TOUH- FHTT

Question Number : 60 Question Id : 3354727690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T-qrer Toag § § T aW W g 57
11th Dec17 Shift 2



11th Decl17 Shift 2

Options:

1. % g A

o, % U aHE

3. ¥ Eg A

4 % FqqET QAT

Rural Economy and Panchavati Eaj

Section Id : 335472246
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472246
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the Act that consolidated and amended the law relating to establishinent of Fanchayats in Madhya

Pradesh? | Tear Ueer § U=Tad | &1 FT0AT € Haled &l &1 GaTrd T SaTEd w aiar srrer-eg 77 87
Options:

1. % The Madhva Pradesh Panchayat Raj Evam Gram Swaraj Adhinivam, 1993 | 78 W28 T=ad O 0d 00
R STt 1993

2. % The Madhva Pradesh Panchavat Raj Act, 1993 [ A2 W4T T=HT 119 UFe, 1993
% % The Madhva Pradesh Panchayat Raj Adhinivam, 1993 | T 0 T=TaT T ATei=am, 1993
4. % The Madhva Pradesh Gram Swaraj Adhinivarr, 1993 | He3 U8 TTH i STE-gd, 1993

Question Number : 62 Question Id : 3354727692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the only condition to be satisfied for becoming Kisan Mitra 7 | TaW 03 54 & o0 0w 717 ad @41 27

Options:

1. # Should be a big farmers | g=T & AT RN

2 % should be a hi-tech farmer | 3= TE-1% dTAT FPET g AT ATiem
3. % chould be a small farmer | §27 = 5T R

4. % Should be a farmer residing in MP | T, Fe 02 &7 Tamdt gA7 amiem

Question Number : 63 Question Id : 3354727693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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__________ will be chaired by the chief minister and will cormprise ministers for agriculture, horticulture, animal

husbandry and dairy, 5C-5T welfare, forestetc. | _________ I AT T aregaT § R S o sad wih,
AT, T[T $1C S2R, THE-TEET w0, 5 ST o AT AT B
Options:

1. # Council of State Ministers for agriculture | W & o7 T==r AT & oimg
2. % Ministry of Agriculture | § G374

3. # agriculture Produce Marketing Council | 3% Je0lg 900 TS

4. ¥ Krishi Cabinet | T ¥Ffewe

Question Number : 64 Question Id : 3354727694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which amorng the following schermes was NOT merged with Swarna Jayanthi Gram Swarozgar Yojana ? | T

& T AT @1 0T A T T 2R T T o &y At e T oy

Options:

1. # Integrated Rural Development Programme (RDF) | Ueiga TH EEme Sied (amE s )

2« Deen Dayal Upadhyay Grarm Jyoti Yojana (DDUGTY) | S ST JUTR W0 #11 FET (Z IS REHaTE)

3. #® Training of Rural Youth for Self Employment (TRYSEM) | TTHI o 1 FaC TR 2, T8E0 (S RRaTe s IH)

4, % Developrment of Wormen and Children in Rural Areas (DWCRA) | T =1 § AlgaT o ag)f &7 e
(E Ew:’-ﬂﬂ )

Question Number : 65 Question Id : 3354727695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the targeted date for achieving 100% village electrification under Deen Dayal Upadl%gy Gram Jyot
;’gj'%a?na? | ST TS FUTET TTH w11 AT o 2iaTia 1 00% WTH0T Teegd oo 7 o152 WIH F- & o] @i | ooy forerfior &

Options:

1. ® January 2018 | Fawr 2018
2. % May 2018 | 72 2018

3 % August 2019 [ aFWE 2019
4. % May 2020 | 7S 2020

Question Number : 66 Question Id : 3354727696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rainfall Insurance Scherme called "Warsha Bima' was introduced by
_________ P eI RIER)

Options:

1. # Life Insurance Corporation of India | AR Sita ST TmA

2. % General Insurance Corporation of India | T ST ST ST 2T

= ¥ agricultural Insurance Company of India Ltd. | THiweRd 2eq0d T S1F S24T wHes
4. % Indian Farmers Fertilizer Cooperative | SIEa9 BTHY e ATeAT F e ida

Question Number : 67 Question Id : 3354727697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhya Pradesh Padat BEhurmi Ka Krishikaran Adhinivam Act was enacted in: | W& T3 U5d i @7 HEw0T
artErtem B T o | artEiaied e e o

Options:
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1. ¥ 1996
2. % 19387
3. % 1985
4. % 1948

Question Number : 68 Question Id : 3354727698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the name of rural malls chain established by ITC in Madhya Pradesh? | A m2ar # sMEarel & gy &g
TTHIIT HTw i T 47 AT &7

Options:

1. % Chaupal Sagar | =0T AT
2. % Eharat Sagar | W A0

3. ® Madhya Sagar | BT AT
4. % vindhva Sagar | Thaamw

Question Number : 69 Question Id : 3354727699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which %g_tr%g following districts of M P is the highest producer of cotton? | HeT 0ar & T Fiet # gairées sum &7

Options:

1. % EBhopal | \9iTA

2. % Jabalpur | SEAYY
z. % Ujjain | 394

4, ¥ Khargone | &0

Question Number : 70 Question Id : 3354727700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Farmers with bullocks get a subsidy of Rs.

T ATTET WL o Ty
Options:
1. % 10000{-

2. % 7500/-
3. ¥ 5000 -
4. % 2500/-

for buving bullock cart in MP. | 7 n2ar # o et et
__________ T W e HedT 2]

Question Number : 71 Question Id : 3354727701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fire %uring isa method usedin_________ Processing. | W T U G & A0 T _________ T | FuegT T
AT

Options:

1. % Rubber | @2

2. % Pepper | Tt T

3. ¥ Tobacco | &g

4 # Cardamom | et
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Question Number : 72 Question Id : 3354727702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following states was Panchayati Raj first introduced in the present form? | gt # &
T | U | O el Ugel ad BT €erey # A & mar?

Options:

1. # Harvyana | giam

2. % Madhva Pradesh | FeT 0gT
2. ¥ Rajasthan | eI

4 # Karnataka | ®ic®

Question Number : 73 Question Id : 3354727703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the present chairrman of NABARD 7 | STeNS FT T A STeRry i 27

Options:

1. ¥ Urjit Patel | 3T 0ed

2 % Rajnish Kumar | 1T FAT

3. % Ajay Tvagi | o9 cmil

4+ Harsh Kumar Bhanwala | g5 §HR 9=a1aT

Question Number : 74 Question Id : 3354727704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the distance of road constructed per day under Fradhan Mantri Gram Sadak Yojana for the year 2016-
177 | @9 2016-17 H WATHAT UTH TS AT & SiaTid Hid e Hiaa agw! & gt =t g7

Options:

1. ® 58 kms | 58 AT
o % 73kms | 73 TAT
% % 100 kms | 100 TFdT
4. 9 130 kms | 130 TFAT

Question Number : 75 Question Id : 3354727705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The total production of kharif food grains during 2016-17 was approx
G G2 S 1 Fel JouTaH, wmeT Thfererm o= am

- ___million tonnes. | 2016-17 & SRTT

Options:

1. 13852
Z % 15824
3. % 16467

4. ¥ None of the above | IUtF & & F1E T51

Question Number : 76 Question Id : 3354727706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under the Pradhan Mantri Awaas Yojana-Grarmin (PMAY-G), the ratio of the cost of unit assistance to be

shared between the Central and State Governments is: | WITHEAT S THT-TTH (AT -=th @ b, &g v
T ORI o ol el H AT T T S8 AgTIer i eI T ST &

Options:
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1. ¥ £0:40 in plain areas and 90:10 for MNorth Eastern and the Himalayan States [ #3HT 471 # 60:40 &t 3w
T e TEATeet Tt @ Ty 90:10
2. % 70:30in plain areas and 80:20 for North Eastern and the Hirmalayan States | 32T 831 # 70:30 3T 3w
Tl U AT Tt @ Ty 280:20
% % S0:50in plain areas and 70:30 for North Eastern and the Himalayan States | BgHT 431 # 50:50 v 3a¢

T U TEATeet Tt @ T 70:30

4. % 75:25 in Plain areas and 85:15 for MNorth Eastern and the Himalayan States | #emT g3 # 75:25 8% 3¢ g2l
g Tt Tt & Ty 85:15

Question Number : 77 Question Id : 3354727707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the Jawahar Gram Sanriddhi Yojna launched? | Famge TTH TH5kg THT &1 HTH Fel G2 T 917

Options:

1. % 1985
= % 1993
= ¥ 2001
4, % 2008

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 78 Question Id : 3354727708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Mission Fingerling” is connected with ____. |~ e _____ o T I 1

Options:

1. #® Animal husbandry | 93 9&4

2 % Horticulture | "Imam=t

3. ¥ Fisheries | Aol OTe-

4. % None of the above | 3w # & F1E A1

Question Number : 79 Question Id : 3354727709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Eharatnet project is related o _______.
Options:

1. % Broadband connectivity to gram panchayats | TTH Tad! @1 SlSas d g e
2. % High speed internet to farmers | aET &1 35 T GTAT 22442

Z. % Broadband connectivity to Zilla Panchavats | FAT t=moat @1 sieds digeide

4 % Free wifi to students in rural areas | WHT y=1 # Tenig=t &1 Fgrr aeee

Question Number : 80 Question Id : 3354727710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rﬂmic%%m%%;he following is NOT amoeng the nine pillars of Digital India? | FEfEs § 9 79 Beea yra & 9

Options:
1. ¥ IT for Education & Health | T &% Femees & @7 smger
2. % Broadband Highways | ¥4 g5

Z. % E-Governance: Reforming Governrment through Technology | - Wiiies! 3 ATedqd & S P gemT
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4. % Universal Access to Mobile Connectivity | OETEd wieidel & o I-awe g

Cornputer Knowledge

Section Id : 335472247

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472247
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ iz an Internet browser released by Google. | __________ TITA GRT AT Eei-1T A3 51
Options:

1. % Firefox | BIORETHT

2. % Netscape | deeHT

= ¥ Chrome | ®

4 % Safari | gERT

Question Number : 82 Question Id : 3354727712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FTF stands for : | FTP #Td%0d & ;

Options:

1. # File transfer program | TT56 gETEL HIHTH
2. ¥ File transfer protocol | TS 6T I EH1d
3. % File transfer port | BIEA TG O1E

4, % File transfer pin | B1EA G I

Question Number : 83 Question Id : 3354727713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The box where we can type the URL in the browser iscalled ______________ | TS | 9% =19d JET 5H TR 7150
TS 5 ______ fﬁg:ﬂ'l?l‘[%
Options:

1. ® Status bar | FEed ax
2. % Text bar | TFHE o

3. ¥ Address bar | TZ2d W
4 % Scroll bar | TRA a7
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Question Number : 84 Question Id : 3354727714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Ctrl+U" in MS WORD will: | TRUE 32 # ‘Ctrl+U’ 907 #7df #ear 2

Options:
1. % Underline the word or sentence highlighted | STEaATEe [ T feg, AT 10 ®T (10T FedT 5
2. % Control you | ST FOTET #eaT s

3. % Make the word or sentence bold | el 2T STH F F16S FaT 5

4. % Reduce the font size | BHE & ATHR B FF FaT &

Question Number : 85 Question Id : 3354727715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, a list at the start of the document containing chapter narmes or titles with the page nuimbers is

called _________ % | AU 92 H, STAgHT & Ay H uw Gt e sreEm @ A A i, qus St o /e g g,

Options:

1. % Index | 3299

2 ¥ Table of Contents | o ATk FegH
3. ® References | ¥mie

4. % Table of Figures | T T TITH

Question Number : 86 Question Id : 3354727716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is NOT a computer hardware? | FaaREa # & #19 U F2 g2da T51 27

Options:

1. % Mouse | ATIH

= ® Monitor | BT

3. ® Keyboard | #-912
4 ¥ Antivirus | TeraE

Question Number : 87 Question Id : 3354727717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following Page Orientation is used in MS Word while printing? | Taqe o2 # Wi & ERE
AT § | e ST T FUT 2T =11aT &7

Options:

1. ® Regular | AT
2 % Standard | 922
=, ¥ Portrait | 0ige

4 % Plain | ToiA

Question Number : 88 Question Id : 3354727718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What does Ctrl + = key effect in MS Word 20077 | UAUE @2 2007 H, g1 “Ctrl + =" &7 I W4T 517 27

Options:
1. % Superscript | REEIT
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2. ¥ Subscript | FEEETE

3. % All Caps | #TH &0
4 % Shadow | J2T

Question Number : 89 Question Id : 3354727719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
is a secondary memory device, | _________ e HepEe HHiET TEamed 81

Options:

1. % Cpu | €ty

2 % AL [ OHE,

3. ¥ Floppy disk | BT &6
4. % Mouse | ATIT

Question Number : 90 Question Id : 3354727720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The standard internet protocol is: | GES2 Seee WEIRd & ;

Options:

1. ¥ TCP|IP
2. % 1JDP
3. % FTP

4. % WA

Question Number : 91 Question Id : 3354727721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The pI'DCESS of StElI‘tlﬂg Elﬂ o eratmg S?StEI‘ﬂ whern the user turns on a corputer is knowrl as: [ TR EEI?’-iill i T el

LT AT FHAT &, o STCH Ei T Wi g
Options:

1. % Staring | g

2. % Loading | #f&T

z. ¥ Booting |

4 % Turn On | 7 &7

Question Number : 92 Question Id : 3354727722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following file contains readvmade styles that can be used for 8 Word document? | FaiaEa g
T TS W Y20 HOISH B1a1 5, e U a2 Srege o fong Fmar = | 87

Options:

1. % Magic wands | #F ¥ d=d
= ® Letters | oed

3. ¥ Termplates | THIRTH

4. % Presentation | WAa

Question Number : 93 Question Id : 3354727723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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CD-ROM stands for: | CD-ROM ®Ta004 &

Options:

1. ¢ Cormnpact Disk Read Only Mernory | ®TH%e 1EH® 112 Sl HART

2. % Cornrmercial Disk Read Only Mermory | SRS [S0F O ST AR

3. % Cornpact Disk Read Cnly Machine | ®TR0Ee 120F U2 SiaT 7t

X

4. % Cormpact Diskette Read Only Memory | ®THIE 28 g A-aT HAl

Question Number : 94 Question Id : 3354727724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The earliest calculating device is: | Ha® U AT FE AT EaET 7

Options:

1. ® Calculator | Fegoiet

2 ¥ Abacus | Tawd

= % Difference engine | 1EHH &9

4. % Analvtical engine | TATCe®a e

Question Number : 95 Question Id : 3354727725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Emich of_%ghe following is invalid line spacing in M5 Word 20077 | faiafEs ¢ @ =19 €t fes qufdT mare-a2 2007
STHTIT &

Options:

1. ¥ Multiple | AfFeua
2. % single | A

= ¥ Triple | TTue

4. % Double | Zad

Question Number : 96 Question Id : 3354727726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Unwanted messages sent by email are called ______________ .| SEE BT S T aEeT daat FETAET &1
Options:

1. # Advertising | Taem=

2. % Spam | T

2. ® Promotions | T

4 % Newsletters | GeHm0=

Question Number : 97 Question Id : 3354727727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default extensions of Microsoft Word 2007 and Microsoft Excel 2007 files are and

respectively.

——————

| ATER METHE 92 2007 T4 ATESR E1de Thas 2007 WIS & Shiee THds - wHaT _____ GE

Options:

1. % doc, xsl
2 ® doc, xml
= ¥ docx, xlsx
4 % docx, xl
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Question Number : 98 Question Id : 3354727728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& single spreadsheet that contains cells organized by rows and colurmns in MS Excel 15 called

AT Uee § g e aisdte Fead disat o gt grT s 9 5T e, ______ FTEATT 2]
Options:

1. % worknote | Ggie

2 ¥ Worksheet | gddie

2 ® Table | Tad

4. % page | U9

Question Number : 99 Question Id : 3354727729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key to be used to move to the previous worksheet in MS Excel? | TAqE Uwas H, os adaie d
AT T A o Toi] T ATE—ae Fait T JUAT Tt SAgmmT?

Options:

1. % Alt +PglUp
= ¥ Cirl + PglUp
3. % Alt + PzDn
4. % Ztrl + PgDn

Question Number : 100 Question Id : 3354727730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following print cornmands should be selected to view the whole docurnent? | [¥ STagqae &1 4&- &
Tory FemgietaT & & v Tile @iz =T e @A omigu?

Options:

1. ¢ Print Preview | T iy
2. % Print All | T e

% % Print 1-5 | T 1-5

4. % Print Mull | Tz 7=
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